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Read the following passage and answer the questions. (30 %)
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Hi8E : Astrid Lindgren (1947) Alla vi barn i{ Bullerbyn, translated by Florence Lamborn The
Children of Noisy Village, 1988, London: Puffin Books, pp. 25-29. B3R
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Questions. Answer all questions in Japanese except Question 1.
1. Who was the owner of the dog at first? Choose the person from the following and write
@), {b), (€), or ().
(@ Mr. Kind
(b} Olaf
(C) Olaf’s father
(). Skip

-2. How did Olaf first try to become friends with Skip?

3. Olaf did a number of things for Skip while the shoemaker was in bed with his leg. List

four of them.
4. What does |it| refer to in the story?
5. What did Olaf’s father do for him after he had been sad for days and days?

6. Why doesn’t-Skip go as far as Mr. Kind’s house anymore?

— 3 — $M17 (213—130)



Each sentence has four underlined items, (@), (b), (C), and (d). Identify the item that needs to

be corrected. Then correctly rewrite the entire item without changing the meaning of the

sentence. (10 %)

Example: I've ,_ever . visited Hawaii (C)M would like to ,  sometime.

@ (b )

Answer: Example

(@) never

1. This is ( a)th_e last party (b)where Yuko ( C)ald Jiro talked ( d)-Q each other at.

2. (a)& the time Taro and Hanako , arrived, their mother will (C‘have recovered.

(b}

(cl)

and my wife has not _ neither.

3. [ have not , been to New York (b)y_et, ¢ @

{a) )

4. The ( a)recent earthquake has only brought a

building, so I suppose we

small amount of C)damages to our office

(b {

qrere very lucky.

5. Things are a)going well )with our project; we (C)didn’t have any technical or

{ (b

‘ d)financial problems so far.
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Read the following passage and the four replies to it, then answer the questions. (25 %)
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Hi# : Timothy P. Carney “The Ideal Number of Kids in a Family: Four (at a Minimum)”. The
Washington Post. April 30, 2024.  (https:/www.washingtonpost.com/opinions/2024/04/30/
family-size-big-families/). —¥ikim

— 6 — OMI17(213—133)




Questions. -

1. There is the word you in the sentence, “How do do it?” According to the author’s

explanation, who are the you in his family? Answer in Japanese.

2. The author mentions several possible disadvantages of children joining “the fast-paced

rat race.” What is one of them? Answer in Japanese,

3. The author introduces ideas from 1)Isabel Sawhill, 2)a survey of 7, 000 U.S. mothers,
‘and 3)a Norwegian study. Which two of the three sources provide information that
supports the author's opinion? Choose the correct combination from the following and
write (@), (b), or (C) on the answer sheet.

(@) Isabel Sawhill and the survey of 7, 000 U.S. mothers
{b) Isabel Sawhill and the Norwegian study
{€) The survey of 7, 000 U.S, mothers and the Norwegian study

4. Choose the correct statement from the choices below. Write (@, ), ), or () on the
answer sheet.
(@) All four of the people writing replies agree with the main idea of the article.
(b) All four of the people writing replies disagree with the main idea of the art_icle.
(€) Three people writing replies agree with the main idea of the article, while one
disagrees.
(@ Two people writing replies agree with the main idea of the article, while two

disagree.
5. Three of the four people writing feplies to the article make a point based on personal
experience. Which one of the four does not? Write this person’s name, in English, on

the answer sheet.

6. When Mr. Tyler was a teenager, why didn’t he have enough time to go to movies, play

baseball, or talk to girls? Give as many details as possible. Answer in Japanese.
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A high school student is giving the new ALT a tour of the school. Choose the best word or

words to complete the conversation. (10 %)

Student:
ALT:

Student:
ALT:
Student:
ALT:
Student:
ALT:

Student:
ALT:

Student:

ALT:

Student:

ALT:

Student:
ALT:

Student:

ALT:

Are yvou Mr, David?

Yes, but my last name is Miller. You can (1)(ca11/name/ say) me Mr. Miller or just
David.

Oh, sorry, Mr. Miller.

No problem! And you are?

My name is Yuki. I’'m here to show you arcund the school.

Nice to meet you, Yuki. I appreciate you @ (take/taken/taking) the time.

My pleasure. Shall we go up to the third floor first?

Sure. Lead the way!

[They go up to the third floor.]

This floor is mostly classrooms for the freshmen.

T've ) (heard/listened/told) that Japanese high school students spend most of the
day in the same classroom.

That's right. Most of our classes take place in our homeroom. We go to other
places for special classes, like the gym for PE.

That’s new to me.

Isn’t that the way @ (others/they/we) do it in America?

No, in fact it’s just the opposite. Students usually have a homercom in the
morning, and then they go to a different classroom for each subject.

What about the teachers?

The teachers stay in the same room all day. They have their own room and the
students come to them for class.

I think it ) (was/were/would be) interesting to go to a different classroom each
period.

It also means the teachers can give their room the stamp of their own personality.
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The vast majority of time, it is wrong to tell a lie, but sometimes it is okay
to tell a white lie. For example, if your friend has a new hairstyle and you
don’t like it and tell your true feelings to your friend, you may hurt her
feelings very much. Thus, telling a white lie in this situation is okay.

Except for white lies, though, it is wrong to lie. Especially, it is wrong to
tell a lie in order to get something good for yourself. For example, if you want
to stay out late to sing karaoke with your friends, but you tell your parents
you are going to your friend’s house to study, then you are only lying in order

to get something for yourself. This type of lying is terrible. (134 words)
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